R AT R E B ERER

BRETREARTR

FRA HITE b = 1m 50cm th R 1A (10cm)
EzRASFEER |AE 0.08 uSv/n| 0.09  uSv/h| 0.10  uSv/h
f8I;& 0.08 uSv/h| 0.08 uSv/h| 0.08  uSv/h

JT=—Aa—Fk 0.09  uSv/n| 0.11 uSv/h| 0.11 1 Sv/h

AIER f8I;& 0.08 uSv/h| 0.10  uSv/h[ 0.09  xSv/h
58138 BE 0.11  uSv/n| 0.11  uSv/n| 0.11  uSv/h
B 0.10  uSv/n| 0.12  uSv/h| 0.12  uSv/h

INEBEFFR f8I;& 0.08 uSv/nh| 0.10  uSv/h| 0.10  uSv/h
f8I;& 0.08 uSv/h| 0.11  uSvwh| 0.11  uSv/h

BE 0.09 uSv/n| 0.11  uSv/h| 0.11  uSv/h

BIER F7=Ra—k | 0.09  uSv/h| 0.11  gSv/h| 0.12  uSv/h
58138 Higs 0.10  uSv/n| 0.08  uSv/n| 0.09  uSv/h
HEE 0.11  uSv/h| 0.12  uSv/h| 0.13  uSv/h
ERFEHREEFR [7=A3—k | 010 uSvwh|[ 0.10  uSv/h| 0.10  uSv/h
f8I;& 0.09 uSv/h| 0.10  uSvwh| 0.11  uSv/h

HigG 0.08 uSv/h| 0.07 uSvh| 0.08  uxSv/h

BIER 5 0.08 uSv/n| 0.08  uSv/h| 0.10  uSv/h
58138 f8I;& 0.11  uSv/n| 0.11  uSv/h| 0.12  uSv/h
BE 0.11  uSv/h| 0.11  uSvh| 0.12  uSv/h

ANBESEEKR  |AE 0.07 uSv/h| 0.08  uSv/h| 0.07  uSv/h
5 0.08 uSv/h| 0.08  uSv/h| 0.09  xSv/h

ZEih 0.12  uSv/n| 0.12  uSv/h| 0.12  uSv/h

hi5 0.07 uSv/n| 0.08  uSv/h| 0.08  uSv/h

BE 0.06 uSv/h| 0.08 uSv/h[ 0.08  uxSv/h

BIER 7=Ra—k | 0.10  uSv/h| 0.12  xSv/h| 0.12  uSv/h
5A18H f8I;& 0.10  uSv/n| 0.08  uSv/h| 0.11  uSv/h
E 0.10  uSv/h| 0.10  uSv/h| 0.10  xSv/h

INBEFEER BE 0.09 uSv/nh| 0.09  uSv/h| 0.10  uSv/h
a1l 0.09 uSv/nh| 0.09  uSv/h| 0.11  uSv/h

JT=—Aa—Fk 0.07 uSv/h| 0.08 uSv/h| 0.09  «Sv/h

BE 0.09 uSv/h| 0.10  uSvnh| 0.10  xSv/h

f8I;& 0.09 uSv/h| 0.09 uSvh| 0.10  xSv/h

f8I;& 0.08 uSv/h| 0.09 uSvh| 0.10  xSv/h

AIER f8I;& 0.10  uSv/h| 0.10  uSv/h| 0.11  xSv/h
5H18H J5iE 0.07 uSv/h| 0.10  uSv/h| 0.10  «Sv/h
HigG 0.06 uSv/h| 0.09 uSvnh| 0.09  xSv/h




R AT R E B ERER

BRETREARTR

FRA HITE b = 1m 50cm th R 1A (10cm)
WREISEZEKR |AIE 0.07 uSv/h| 0.07  uSvnh| 0.07  uSv/h
w15 0.09 uSv/h| 0.10  uSvh| 0.09  xSv/h

f8I;& 0.09 uSv/h| 0.09 uSvh| 0.10  xSv/h

JT=—Aa—Fk 0.09 uSv/h| 0.09 uSv/h| 0.08  u«Sv/h

f8I;& 0.06 uSv/h| 0.08 uSv/h[ 0.09  uxSv/h

f8I;& 0.09 uSv/h| 0.10  uSvnh| 0.10  xSv/h

AIER 1% 0.07 uSv/h| 0.08  uSv/h[ 0.08  uSv/h
5A18H NyoxykZE| 0.07  uSv/nh| 0.08  uSv/h| 0.08  uSv/h
Bl 0.12  uSv/h| 0.15  uSv/h[ 0.19  xSv/h

+HESFER  |AE 0.06 uSv/n| 0.07  uSv/h| 0.07  uSv/h
ZEih 0.09 uSv/nh| 0.09  uSv/h| 0.09  uSv/h

B85 0.05 uSv/h| 0.05 uSvh| 0.06 uSv/h

f8I;& 0.10  uSv/h| 0.10  uSv/h[ 0.08  uSv/h

AIER BEERTEM | 0.09  uSvh| 0.09 uSv/nl 0.10  uSv/h
5A12H BE 0.09 uSv/n| 0.09 uSv/n| 0.09  uSv/h
f8I;& 0.10  uSv/h| 0.09  uSv/h| 0.09  xSv/h
+HERESEER |FE 0.08 uSv/n| 0.08  uSv/h| 0.08  uSv/h
f8I;& 0.06 uSv/h| 0.06 uSv/h| 0.06  uxSv/h

BE 0.09 uSv/nh| 0.10  uSv/h| 0.11  uSv/h

f8I;& 0.08 uSv/h| 0.10  uSvnh| 0.11  uSv/h

AIER ;% 0.07 uSv/h| 0.08  uSv/h[ 0.08  uSv/h
5A12H f8I;& 0.05 uSv/h| 0.07 uSvnh| 0.08  uSv/h
f8;& 0.07 uSv/h| 0.07 uSvnh| 0.08  uSv/h

NAEBEFFR f8I;& 0.08 uSv/h| 0.09 uSvh| 0.10  xSv/h
B85 0.10  uSv/h| 0.10  uSv/h| 0.10  xSv/h

f8I;& 0.07 uSv/h| 0.07 uSvnh| 0.07  uSv/h

f8I;& 0.07 uSv/h| 0.08  uSv/h[ 0.08  uSv/h

AIER BE 0.10  uSv/n| 0.11  uSv/h| 0.11  uSv/h
5812H JT=—Aa—Fk 0.09 uSvh| 0.10  uSv/h| 0.09  «Sv/h
f8I;& 0.07 uSv/h| 0.08  uSv/h[ 0.08  uSv/h

BRREFFR f8I;& 0.07 usv/n| 0.08 usv/n| 0.07 uSV/h
BE 0.09 usv/n| 0.11  usSv/n| 0.11  uSV/h

f8I;& 0.08 usv/n| 0.08 usSv/nh[ 0.09 uSV/h

AIER & 0.07 usv/n| 0.08 usSv/n| 0.07 uSV/h
5A12H f8I;& 0.08 usv/n| 0.08 usSv/n| 0.08 uSV/h
f8I;& 0.05 usv/n| 0.07 usSv/n| 0.07 uSV/h




R AT R E B ERER

BRETREARTR

FRA HITE b = 1m 50cm Hh 2R @ 135 (10cm)
EEREREER |AE 0.08 usv/n| 0.08 usSv/n| 0.07 uSV/h
f8I;& 0.05 usv/n| 0.07 usSv/n| 0.07 uSV/h

f8I;& 0.06 usSv/n| 0.07 uSV/nh[ 0.10 uSV/h

AIER HigG 0.05 usv/n| 0.05 uSVv/n| 0.06 uSV/h
5A12H f8I;& 0.06 usv/n| 0.07 usSVv/n| 0.08 uSV/h
JI9Uk 0.11  usv/n| 0.11  uSV/h| 0.10  uSV/h

INERRI R |REE 0.10  uSv/n| 0.11  uSv/h| 0.11  uSv/h
B85 0.12  uSv/n| 0.13  uSv/h| 0.13  uSv/h

f8I;& 0.10  uSv/h| 0.11  uSv/h| 0.11  uSv/h

AIER 1% 0.09 uSv/h| 0.10  uSvwnh| 0.11  uSv/h
58138 hi5 0.10  uSv/n| 0.11  uSv/h| 0.13  uSv/h
hi5 0.09 uSv/nh| 0.10  uSv/h| 0.11  uSv/h




